EMBOSS TYPE SHEET REVISIONS
BRAND SHORT LONG FLUSH 1 OF 3
. .| ZONE: ATE: i :
CLOPAY 9200, HDP20 | 9203, HDPL20 | 9201, HDPF20 AN,y E Zall ECN NG JAPPVD LI
HOLMES 7200 7203 7201 04 - 3/5/20 EN2736 SH REVISED MAX WINDOW SIZE AND TITLE BLOCK
05 —_ 9/29/20 - SH ADDED IBC/IRC COMPLIANCE STATEMENT.

(1) 20 GA. BACKER PLATE BETWEEN EACH THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC.

EMBOSS LOCATION THAT CONTAINS A CENTER
HINGE. ATTACHED WITH DOUBLE SIDED
ACRYLIC ADHESIVE TO BACK OF DOOR. l— —= A

IMPACT—RESISTANT CONSTRUCTION:
SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—RESISTANT. OPTIONAL MAX WINDOW SIZE 19—1/2"x12" INJECTION—MOLDED

GLAZING IS INJECTION MOLDED GE LEXAN

OPTIONAL ROW OF IMPACT—RESISTANT GLAZING.
/ MAX. GLAZING SIZE IS 19-1/2" x 12",
SLX2432T, AN APPROVED CC2 PLASTIC IN

ACCORDANCE WITH IBC/FBC 2606.

E = IR s I I S h ) L e e e pEALS: POLYCARBONATE FRONT FRAME AND GLAZING IS GE LEXAN SLX2432T, AN APPROVED CC2
1o 1l TR 1l n T TR 1 7ING SHOWN INT PLASTIC IN ACCORDANCE WITH IBC/FBC 2606.
e U S|} ) ) e | S 5 A () | [/ S | Ry SRR || | |/ SO | iy | S (GLA SHOWN IN' INTERMEDIATE SECTION.) THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
! WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
2 16 GA. DOUBLE END STILES. CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.
; 4 4 Y 4 4 4 MAY BE NOTCHED FOR LITES. GLAZING SHOWN IN TOP SECTION
y /4 /4 4 4 7 /4 74 :
L AN | AN | AR | L AN
& = ' <8 Ak
< * : )
- y
=X C gty G e L —l—_,_—__:_— e e o i W e e \\_ [Tot]
3 o {0 i ]| s b s il 3 VIEW "B" (SEE SHEET TWO). y . VARV Y. Y . Vi
L0 | e— e — VIEW "C" (SEE SHEET TWO). Vi Vs /4 W Y Vi 7 Vi
9 ________________ e i el | | M el  (Wiasraamrsraill | | [t e
= o !
OO0
" Mooy e M N P | U |
. R [ I et 11 | i (i i v 11 i (N i | | s M | i nl i i it] [11 TR il [ o
zZ SR VN SRR V1 N | S| S S— | ) | SO EOU ] | |} S ) E——
S S|l et i e || NS i ol | TN s e ————— e M | N AT T ) T e | e e e
TWO POINT LOCKING
e M i 7 ) TpeaE— INTO TRACK. e —— e — — — . n = =]
e T e | [ mp— O s e 1 s O s s O
! _ }  (2) LHR TOP BRACKETS USED AS '
N INNER BOTTOM BRACKET. ey e————— =t _ e e o .
L s \-OPTIONAL OUTSIDE KEYED LOCK POSITION\_ (1) 3—-IN ROLLER CARRIER (P/N i i |T==="7 T | | | T [T |
MAX. DOOR WIDTH = 16'-2" 0120394) USED WITH 3" TRACK. T V) =eererer= ) I 12 =T ey s B e ) ey | I | ey g ey
INSIDE_EL EVATION J
DOOR HEIGHT | (rhrliNs
_ SLIDE BOLT LOCK SNAP LATCH ENGAGES EKD
UP_TO 7°0 4 5 ENGAGES INTO ONTO VERTICAL TRACK. il
7'3" 10 8'9" 5 VERTICAL TRACK. ONE SNAP LATCH ON .
90° 10 106" 3 SECTION B—B (IMPACT—RESISTANT GLAZING OPTION) STILE. ONE LOCK ON EACH SIDE OF DOOR.
109" 70 12'3* 7 *\ DETALL ‘D’ E:(A)%I—I; SIDE OF
1’6" T0 140" 8 : : OUTSIDE
14/3 TIEI’IS 9 9 HANDLE. LOCK BAR
160 o » INSIDE SLIDE BOLT OUTSIDE ) END ENGAGES IN
OPTIONAL DECORATIVE / \_  MULTIPURPOSE HIGH BOND TAPE HANDLE. (E)/:CISO%IQE
SNAP—IN INSERT. ™\_ —‘\—(EIETWEEN FRAME AND FACADE). INSIDE. HANDLE -
SRR, s L DECORATIVE FRONT FACADE. QUTSIDE KEYED LOCK WITH OUTSIDE KEYED LOCK WITH
B Lf— & == SNAP LATCH LOCK OPTION. LOCK BAR LOCKING.
& i, 4 0.183—] : :&mnucmm_ SILICONE. SEALANT MANUFACTURING PRODUCT CODE
k y —
s - / (BETWEEN STEEL SKIN AND FRAME). DESIGN LOADS: +46.0 P.S.F. & —52.0 P.S.F. DSIU-1F171
FNY /o : P W TEST LOADS: +69.0 P.S.F. & —78.0 P.S.F. PART NO.. N/A
2‘. R /f = yﬁ?C;IE%EESI?J‘ngTION Unless Stated Otherwise - ﬂlnpay 3585 Dg§84gggéevlg|£g WINDLDOAD RATING
% R BT e B POLYSTYRENE RETANER FASTENED TO FRAME WITH TOLERANCES ore | R Mason, 10 cuan oA
0 2_,’{( . B & P hsAI?XLgE:'?zTGEFR'bEﬁ?N (10) #8 x 3/4” PAN HEAD MACHINE SCREWS. [ b CORPORATION Fox No. B13-770-4853 \/\/ 8 D P 4 6
1912207 4 R BIENE, S SCLAZING. 688 = 1'882 DESCRIPTION: 2" PUR INS. DOORS TO 16'2" (SEE TABLE FOR MODELS)
g B 0000 — +.001 |DRAWN BY: SH DATE: 10/12/12SCALE: NTS DWG.
DESIGN "ENGINEER: Degrees = +1/2' [CHECKED BY: SH DATE: 10/26/12|SHEET 1 OF 3 [SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise =
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NOQ.: 104778 VER: TDI

4




SRETT — EMBEILSDSNGTYPE — SHEET'OF 5 REVISIONS

STTPAY 9200, HDP20 | 9203 HDPLZ0 | 920T, ADPF20 REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
IDEAL 8200 8203 820 05 - - - - SEE REVISION HISTORY ON SHEET ONE.
HOLMES 7200 7203 720

IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING

LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES:

1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6
SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE

I SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE.
ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE
SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE
MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW.

2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING
STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE
WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE
OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER,
THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED

C LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE

PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS

OF THE SUPPORTING STRUCTURE.

—{-1/2" FROM EDGE

» :

1/4"x3/4” SELF
TAPPING SCREWS.

B PREPARATION OF JAMBS BY OTHERS.

VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS):
3/8"x3" LAG SCREWS ON 19" CENTERS. 1-1/8" 0.D. WASHER REQUIRED. LAG SCREWS

MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

TTACHMENT (C— IN. N):
] 3/8"x3" SLEEVE ANCHOR BOLTS ON 11" CENTERS (2,000 PSI MIN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS.
OR
e, 1/4"x3” TAPCON SCREWS ON 9" CENTERS (2,000 PSI MIN. CONCRETE) OR 5" CENTERS
..+ 1 4(6-90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
' ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFAC}E:. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

- OTHER. JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN
_PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR

AN A S B CORFIG .
3 /% A& i BI,-.Q.- URATION
'y -"I L ¢ l _ -

#14x5/8" SHEET METAL SCREWS

14_GA. END HINGES 18 GA. (MIN.) INTERMEDIAT
VIEW "B" VIEW "C"

27 GA (0.016" MIN.) EXTERIOR STEEL

SKIN WITH

POLYESTER PAINTED TOP COAT APPLIED

TO

SILICONE FILLED CHANNEL SEPARATES
FRONT AND BACK SKIN OF DOOR.

URETHANE CORE
DENSITY 2.4 PCF.

E—

(1) 12 GA. GALV. STEEL TOP ROLLER
BRACKETS (2—1/2" x 5-3/8"). EACH
BRACKET ATTACHED W/(4) #14x5/8" SHEET
METAL SCREWS. ADJUSTABLE SLIDE ATTACHED
TO TOP BRACKET WITH (2) 1/4"x1/2" BOLTS
AND NUTS PER BRACKET.

27 GA. (0.016" MIN.) INTERIOR STEEL SKIN

iR (DRAWING QUALITY) WITH G—40 MIN. GALV.,
BAKED—ON PRIMER AND A BAKED—ON
g POLYESTER PAINTED TOP COAT APPLIED TO

BOTH SIDES OF STEEL SKIN.

14 GA. GALV. ROLLER HINGE. EACH HINGE
FASTENED TO END STILES WITH (4)
#14x5/8" SHEET METAL AND (2)
1/4"x3/4" SELF TAPPING SCREWS. SEE
VIEW "B".

VIEW "D”
4" TALL TAPER STRUT.

0.062" MIN. GALV. STEEL,
80 KSI. MIN.

ONE 4" T—STRUT PER SECTION. (SEE
VIEW "D”) EACH T—STRUT ATTACHED AT
EACH HINGE LOCATION WITH (2)
1/4"x3/4" SELF TAPPING SCREWS.

INGE

G—40 MIN. GALV. BAKED—ON

13 GA. GALV. STEEL BOTTOM BRACKET ATTACHED
WITH (2) #14x5/8” SHEET METAL SCREWS.

ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

BOTH SIDES OF STEEL SKIN.

SECTION A—A (SIDE VIEW)

MANUFACTURING PRODUCT CODE

DSIU-1F171
DESIGN LOADS: +46.0 P.S.F. & —52.0 P.S.F.
TEST LOADS: +69.0 P.S.F. & —78.0 P.S.F. PART NO.: N/A

Unless Stated Otherwise 8585 Duke Boulevard WINDLOAD RATING

TOLERANCES oe |igum USlOAY Hoom 865545 3 W8 DP46

0 +.031 CORPORATION Fax No. 513-770-4853

.00

s i-gég DESCRIPTION: 2" PUR INS. DOORS TO 162" (SEE TABLE FOR MODELS)
.E! ' £ T ‘ 0000 = x.001 |DRAWN BY: SH DATE: 10/12/12 SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = +1/2° (CHECKED BY: SH DATE: 10/26/12|SHEET 2 OF 3 |SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104778 VER: TDI

4 | 3



4 3 N 2 1

BRAND EMBOSS TYPE SHEET REVISIONS
C 920%HD|-$DTP20 9803LDl-r\Il][JEPL80 9201F LLI-JISDEFEO 3 OF 3 [REV. NO. ZONE: | DATE: [ ECN NO.| APPVD: DESCRIPTION
LOPAY ’ ) ,
IDEAL 8200 8203 8201 05 - —_ = - SEE REVISION HISTORY ON SHEET ONE.
HOLMES 7200 7203 7201
" NOTE: TRACK CONFIGURATION ABOVE THE
D 2 TRACK CONFIGURATION. DOOR OPENING DOES NOT AFFECT THE ggﬁggg;"éﬁgggﬁ
WIND LOAD RATING OF THIS DOOR. INSTALLER (TO SUIT).
DOOR COUNTERBALANCE SYSTEM JAMB CONFIGURATION
. : : : : - DOOR | FOR 2" TRACK.
7 HEIGHT | "L
Z 13 GA GALV.( ?TEI;L FLAG BRA})KET ATTACHED TO 5—6"] 70"
JAMB WITH (3) 5/16” X 1-5/8" LAG SCREWS L X
’ AND TO TRACK WITH (2) 1/4" RIVETS. ;._g.. ggn 1" DOOR OVERLAP (EACH SIDE) —|
T 8-01 88" 2x6 SYP WOOD JAMB. SEE OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).
— o AS RQD: SPACING NTE 14" O.C. S.‘g.. 24 JAMB PREPARATION NOTE™. ™Sy 16 GA GALV. STEEL DOUBLE—END-STILE FASTENED WITH (1) #8 X 1/2" WAFER SCREW.
. —1100 ' END STILE DIM.: 5-3/4 X 2—-1/8" X 3/8".
-2 9 -6 1106 ‘' |
B 10!_0” 112"
8 A N 10=6"[118" 2-1/2" X 12 GA GALV. STEEL S
I TR 117-07"[124" TRACK BRACKETS FASTENED TO |
= 11-61130" WOOD JAMBS WITH 5/6” X 1-5/8" 7/16" 1.D. ROUND 18 GA. GALV. STEEL CENTER HINGE
S 12°~0"]136 LAG SCREWS NOT TO EXCEED 14 PUSH NUT FASTENED TO SECTION W/(4) EACH
w 12'—6"]142" ON—CENTER. MIN. OF (9) LAG FASTENER. #14x5/8" SHEET METAL SCREWS.
TYP. 2—1/2" X 12 GA GALV. 13-0"]148" SCREWS REQUIRED PER JAMB.
o . / Lo LT 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
2 STEEL TRACK BRACKETS, 13'-6"[154
z ATTACHED TO JAMB WITH (1) 14'—0"|160" SHEET METAL SCREWS AND (2) 1/4” SELF TAPPING SCREWS PER END HINGE.
o 5/16" X 1-5/8" LAG SCREW PER 14'—6"[166" 2" GALV. STEEL TRACK FASTENED TO
< TRACK BRACKET. 15=0"[172" 12 GA GALV STEEL TRACK BRACKETS
15'—6"|178" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
16'=0"|184" (1) 1/4” x 5/8" BOLT & NUT PER
TRACK BRACKET. SECTION €=C
= LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
- RATI JAM ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
_}‘ USED WITH "DOUBLE END STILE” AS SHOWN IN
ZONE B-3 SHEET 1.
" NOTE: TRACK CONFIGURATION ABOVE THE
3_ TRACK CONFIGURATION. DOOR OPENING DOES NOT AFFECT THE NF| T DOUBLE TRACK
WIND LOAD RATING OF THIS DOOR. M—w 3" TRACK. LOW HEADRGOM. GPTION
gggLESR Py BBEﬁgﬁED FOR (AVAIL. FOR BOTH 2" AND 3" TRACK)
: HORIZONTAL TRACK
| SUPPORT BY DOOR ggll\JBLE HORIZONTAL
INSTALLER (TO SUI). 1" DOOR OVERLAP (EACH SIDE) —| |— Cit

S ) 2x6 SYP WOOD JAMB. SEE STOP MOULDING BY DOOR INSTALLER (TO SUIT).
B 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK "JAMB PREPARATION NOTE”. I 16 GA GALV. STEEL DOUBLE—END-STILE FASTENED WITH (1) #8 X 1/2" WAFER
THICKNESS: 0.101”. ANGLE THICKNESS: 0.080". , ) SCREW. END STILE DIM.: 5-3/4 X 2-1/8" X 3/8".
MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8". ; '
TS_ VERTICAL/HORIZONTAL TRACK 14” MAXIMUM SPACING E 7 o o B JRE " =
e JUNCTION. TWO 1/4” BOLTS |—— FROM LAST MOUNTING ;:’NG‘L/E‘* SEEZLZG/ BBorTINMSUS%?Sg A?';gigg P |>
z & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION : U B : - | 18 GA. GALV. STEEL CENTER HINGE
u - g ;ﬂéﬁ h:-lIJDT. ROUND FASTENED TO SECTION W/(4) EACH
" REWS.
o ADDITIONAL MOUNTING SLOTS FASTENER. #14x5/8" SHEET METAL SCREWS
S ™~ SPACED AT 12" CENTERS.
— 8 0.101” THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER '!-IINGES FASTENED TO END
i TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
= —12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
T o NUT AT EACH MOUNTING SLOT.
w 3" DIA. 8—1/2" LONG STEM BALL BEARING STEEL ROLLER.
o SECTION C—C MANUFACTURING PRODUCT CODE
Z n
£ " NE. %" TRACK BOLT AND NUT AT EACH REPARATIO A Y —
& =% MOUNTING SLOT LOCATION. PRE MOF w DSIU-1F171
o DESIGN LOADS: +46.0 P.S.F. & —52.0 P.S.F. TN
o © T AL TEST LOADS: +69.0 P.S.F. & —78.0 P.S.F. PART NO.: N/A
3 Unless Stated Otherwise ay 8585 Duke Boulevard WINDLOAD RATING
W 22" HEIGHT |TRACK LENGTH l}l Mason, OH 45040 USA
IEIGH] T TOLERANCES oo |y WoiOP@AY Yoo 91,45%80 250 W 8 D P 4 6
/ /LK. 80" | 84" f ) 0 = +.031 |CORPORATION  Fax No. 513-770-4853
AT ALY ) 9°—0" | 96" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 T =
7 / g 10 1007 108" DISTANCES AS THE. TRACK BOLTS (LE. 3-1/2". 10%, 22", 34", 600 = o5 |DESCRIPTION: 2" PUR INS. DOORS TO 16'2" (SEE TABLE FOR MODELS)
“ ol T e S f 3-1/2" 4?-5 .Eg, 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 |DRAWN BY: SH DATE: 10/12/12| SCALE: NTS DWG.
DESTGN. ENGINEER: o pma— 1601 160" FERIENe FIORZONL Al t e >0 ([ CCATED ABOVE Degrees = +1/2'  [CHECKED BY: SH DATE: 10/26/12/SHEET 3 OF 3 [SIZE
MARK WESTERFIELD, PiE,~ .~ “777777os” . Unless_ Stated Otherwise -
FLORIDA P.E, $#484951°NC-P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104778 VER: TDI
Yiaaan "‘}-:' 4_ 3 ? 2 1




